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LIFE SCIENCE

CLASS X

Control and Co-ordination in Living Organisms

QUESTIONS AND ANSWERS

1. How will you explain the movement of Volvox towards the source of light?

Ans : The algae Volvox moves towards the source of light. It is an unicellular alga
which change place during movement towards light. This is one type of tactic
movement called positive phototactic movement.

2. Prepare a list of sources of auxin, gibberellin and cytokinin.

Auxin Gibberellin Cytokinin

Apical meristem of Matured seeds and | Liquid endosperm of

root and stem cotyledons coconut, endosperm of
corn

Young leaf, pollen, Growing regions of | Germinated seed, flower

etc. leaf and fruits

3. Discuss the nature of the following movements:
1) Movement of the leaves of touch me not
2) Opening of petals of tulip flower in high temperature
3) Movement of roots towards source of water

Ans.: 1) Seismonasty
2) Thermonasty
3) Hydrotropic movement
4. Explain the feedback mechanism of hormone with the help of example.

Ans.: When the secretion of any endocrine gland is indirectly controlled by the
secretion of another endocrine gland — the phenomenon is called feedback
mechanism.



Example — Low concentration of thyroxin in the blood triggers the hypothalamus to
secrete TRH (Thyrotropin releasing hormone), which in turn triggers pituitary to
release TSH. This TSH excites thyroid gland which then releases thyroxin hormone.

Low concentration of thyroxin in blood —Active hypothalamus
Positive feedback TR&(

Thyroxin <«——Active thyroid gland <¥fSH <Active Pituitary

5. ‘“Action of insulin and glucagon is opposite in nature’ — Explain

Ans.: Insulin and glucagon act oppositely. The physiological function of insulin is
inhibited by glucagon.

i) Insulin helps in glycogenesis to produce glycogen whereas glucagon helps in
glycogenolysis to produce glucose.

ii) Insulin inhibits neoglucogenesis but glycogen helps neoglucogenesis to
produce more glucose.

iii) Insulin lowers the production of ketone body but glucagon increases the
production of ketone body.

6. Write the symptoms of abnormality caused by less secretion of any three animal
hormone.

Name of animal | Abnormality due to less | Symptom
hormone secretion

STH Dwarfism Retarded growth of bones,
muscle and body
ADH Diabetes insipidus Production of large

amount of liquid urine

Thyroxin Goiter Swollen throat




